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<dokument>
<hlavicka>
<datumK>
<den>31</den>
<mesiac>12</mesiac>
<rok>2019</rok>
</datumK>
<dic>2121129373</dic>
<ico>52581632</ico>
<skNace>
<k1>46</k1>
<k2>16</k2>
<k3>0</k3>
</skNace>
<typUzavierky>
<riadna>1</riadna>
<mimoriadna>0</mimoriadna>
<priebezna>0</priebezna>
</typUzavierky>
<obdobie>
<od>
<mesiac>1</mesiac>
<rok>2019</rok>
</od>
<do>
<mesiac>12</mesiac>
<rok>2019</rok>
</do>
</obdobie>
<bPredObdobie>
<od>
<mesiac></mesiac>
<rok></rok>
</od>
<do>
<mesiac></mesiac>
<rok></rok>
</do>
</bPredObdobie>
<prilozeneSucasti>
<suvaha>1</suvaha>
<vykazZiskovStrat>1</vykazZiskovStrat>
<poznamky>1</poznamky>
</prilozeneSucasti>
<uctJednotka>
<obchMeno>
<riadok>ObscurA Wear s.r.o.</riadok>
<riadok></riadok>
</obchMeno>
<sidlo>
<ulica>Pionierska</ulica>
<cislo>690/3</cislo>
<psc>90845</psc>
<obec>Gbely</obec>
<oznObchodReg>
<riadok>Okresný súd Trnava, Oddiel Sro, Vložk</riadok>
<riadok>a č. 45417/T</riadok>
</oznObchodReg>
<telefon></telefon>
<fax></fax>
<email>tomsova.k@azet.sk</email>
</sidlo>
</uctJednotka>



<datZostavenia>16.10.2020</datZostavenia>
<datSchvalenia>16.10.2020</datSchvalenia>
</hlavicka>
<telo>
<ucMuj1Suvaha>
<r01>
<s1>5000</s1>
<s2></s2>
</r01>
<r02>
<s1></s1>
<s2></s2>
</r02>
<r03>
<s1></s1>
<s2></s2>
</r03>
<r04>
<s1></s1>
<s2></s2>
</r04>
<r05>
<s1></s1>
<s2></s2>
</r05>
<r06>
<s1></s1>
<s2></s2>
</r06>
<r07>
<s1></s1>
<s2></s2>
</r07>
<r08>
<s1></s1>
<s2></s2>
</r08>
<r09>
<s1></s1>
<s2></s2>
</r09>
<r10>
<s1></s1>
<s2></s2>
</r10>
<r11>
<s1></s1>
<s2></s2>
</r11>
<r12>
<s1></s1>
<s2></s2>
</r12>
<r13>
<s1></s1>
<s2></s2>
</r13>
<r14>
<s1>5000</s1>
<s2></s2>
</r14>
<r15>
<s1></s1>
<s2></s2>



</r15>
<r16>
<s1></s1>
<s2></s2>
</r16>
<r17>
<s1></s1>
<s2></s2>
</r17>
<r18>
<s1></s1>
<s2></s2>
</r18>
<r19>
<s1></s1>
<s2></s2>
</r19>
<r20>
<s1></s1>
<s2></s2>
</r20>
<r21>
<s1>5000</s1>
<s2></s2>
</r21>
<r22>
<s1>5000</s1>
<s2></s2>
</r22>
<r23>
<s1></s1>
<s2></s2>
</r23>
<r24>
<s1>5000</s1>
<s2></s2>
</r24>
<r25>
<s1>5000</s1>
<s2></s2>
</r25>
<r26>
<s1>5000</s1>
<s2></s2>
</r26>
<r27>
<s1>5000</s1>
<s2></s2>
</r27>
<r28>
<s1></s1>
<s2></s2>
</r28>
<r29>
<s1></s1>
<s2></s2>
</r29>
<r30>
<s1></s1>
<s2></s2>
</r30>
<r31>
<s1></s1>
<s2></s2>



</r31>
<r32>
<s1></s1>
<s2></s2>
</r32>
<r33>
<s1></s1>
<s2></s2>
</r33>
<r34>
<s1></s1>
<s2></s2>
</r34>
<r35>
<s1></s1>
<s2></s2>
</r35>
<r36>
<s1></s1>
<s2></s2>
</r36>
<r37>
<s1></s1>
<s2></s2>
</r37>
<r38>
<s1></s1>
<s2></s2>
</r38>
<r39>
<s1></s1>
<s2></s2>
</r39>
<r40>
<s1></s1>
<s2></s2>
</r40>
<r41>
<s1></s1>
<s2></s2>
</r41>
<r42>
<s1></s1>
<s2></s2>
</r42>
<r43>
<s1></s1>
<s2></s2>
</r43>
<r44>
<s1></s1>
<s2></s2>
</r44>
<r45>
<s1></s1>
<s2></s2>
</r45>
</ucMuj1Suvaha>
<ucMuj2VykazZS>
<r01>
<s1></s1>
<s2></s2>
</r01>
<r02>



<s1></s1>
<s2></s2>
</r02>
<r03>
<s1></s1>
<s2></s2>
</r03>
<r04>
<s1></s1>
<s2></s2>
</r04>
<r05>
<s1></s1>
<s2></s2>
</r05>
<r06>
<s1></s1>
<s2></s2>
</r06>
<r07>
<s1></s1>
<s2></s2>
</r07>
<r08>
<s1></s1>
<s2></s2>
</r08>
<r09>
<s1></s1>
<s2></s2>
</r09>
<r10>
<s1></s1>
<s2></s2>
</r10>
<r11>
<s1></s1>
<s2></s2>
</r11>
<r12>
<s1></s1>
<s2></s2>
</r12>
<r13>
<s1></s1>
<s2></s2>
</r13>
<r14>
<s1></s1>
<s2></s2>
</r14>
<r15>
<s1></s1>
<s2></s2>
</r15>
<r16>
<s1></s1>
<s2></s2>
</r16>
<r17>
<s1></s1>
<s2></s2>
</r17>
<r18>



<s1></s1>
<s2></s2>
</r18>
<r19>
<s1></s1>
<s2></s2>
</r19>
<r20>
<s1></s1>
<s2></s2>
</r20>
<r21>
<s1></s1>
<s2></s2>
</r21>
<r22>
<s1></s1>
<s2></s2>
</r22>
<r23>
<s1></s1>
<s2></s2>
</r23>
<r24>
<s1></s1>
<s2></s2>
</r24>
<r25>
<s1></s1>
<s2></s2>
</r25>
<r26>
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<s2></s2>
</r26>
<r27>
<s1></s1>
<s2></s2>
</r27>
<r28>
<s1></s1>
<s2></s2>
</r28>
<r29>
<s1></s1>
<s2></s2>
</r29>
<r30>
<s1></s1>
<s2></s2>
</r30>
<r31>
<s1></s1>
<s2></s2>
</r31>
<r32>
<s1></s1>
<s2></s2>
</r32>
<r33>
<s1></s1>
<s2></s2>
</r33>
<r34>



<s1></s1>
<s2></s2>
</r34>
<r35>
<s1></s1>
<s2></s2>
</r35>
<r36>
<s1></s1>
<s2></s2>
</r36>
<r37>
<s1></s1>
<s2></s2>
</r37>
<r38>
<s1></s1>
<s2></s2>
</r38>
</ucMuj2VykazZS>
</telo>
</dokument>


